N2 F

1000m

B/ (KR) 3,03. 46
R

[} No. K £

1 15 47 BET(5)
Ny 73/

20 17 10 #AK FiF (6)
93% 13

3 4 103 tHiE =3 (6)
79 ags

4 1 117 B OG)
b9 Wt

5/ 23 3% WA (6)
19 32 %

6 19 9T EXR®6)
Y It

7 1 126 F1% AE®)
NZa9bh

8 6 67 8 1237 (5)
ThoY kX

9 2 105 tr#t —Z(6)
ISE Y

10 16 104/;h@ 7 (6)
155 7%

1 3 144 28 Pt (5)
2993t

12 25 7#%A #WE 5)
Y8 79

13 13 50 =F HE6)
9 19%

14 7 6 ILUFE KE (D)
WY 3t

15 18 60 /MIE  EE(6)
Y Y

16 8 65 #1 EE (5)
L33y af

17 24 166 BB Z £ (6)
N4 73

18 20 171988 Zk@4)
WYV Y3

19 12 66 {tE Y& ()
YRy U3

20 5 5{ERKR &R (5)
#: v9

21 14 61/ 5 (H)
mwyy 13

22 21 8 /hith B5F (5)
M E3Y

23 10 195 5% FR4 ()
Y/ 937

24 9 91 |/hH kB (5)
M7 A3

25 22 68 AL mE®
Y7h3 1t

INEE

B 4 R 1 IRRC
INFE

ISy 1z7
INFE

ISy 17
INFE

INFE
WIEEESFT
INFE
&N
INEE

89 4 #R 1 iRRC
INEE

89 4 #R 1 RRC
INFE

W EEESFT
INFE

ISy 1z7
INFE

R ABAC
INFE

ISy 1z7

e
INEHE
1SY" 127

By 4 4R TAR 4>
INEHE
TN

&R wE
3,26.16

3,28.08

3,33.25
3,34.95
3,37.07
3,37.46
3,38.90
3,39.16
3,39.17
3,40.88
3,45.32
3,46.13
3,53.22
3,57.23

4,00. 44
4,00.87
4,01.23
4,01.53
4,01.64
4,04.51
4,06. 46
4,09.87
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